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sy Find the vatio of bending and shear strain energy.in the cantilever beam of 4m length carrying -
' uniformly distributed load of 2kN/m with square ¢/s 400mm each side. Take Poisson’s ratio as
B}y LS, '

o} | Staie and explain Castigliano’s second theorem.

: ) _ L L - 10+4+1 1=235
J f Find out the deflection and slope at the center of the cantilever beam (Fig.1) with constant EL. Use ,
: | Strain Energy method. ‘ ' ‘ s | }
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| 2.8) ' Solve the simple continuous beam as shown in Fig: 2. Draw SFD and BMD showing the salient |
; ! woirits, : ;
! o - o 18+3+4=25 |
5 4 What is static and kinematic indeterminacy? Find the static and kinematic indeterminacies of the

Cbesra shown in B ig. 2,

24} Fing theforees in cuch member of the truss'as shown in Fig. 3. Member AC is found to be 1.5 mm !

| short of required length, The diagonal members are each 1000mm? and remaining members are I
| | 1500mm? in area. Take E = 200kN/mm?. |
! | . |
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b) | Analyze the portal frame as shown in fig, 4 and draw bending moment diagram. Apply strain
" enerey method, '
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I a  Explain and derive the theorems of Area Moment . ' 5
- b Consider a beam ABCDE, s0 that AB=0.§ m,BC=CD=3mand DE=05% m.A 20

2 A propped cantilever beam ABC has AB=5m and BC=1 m Jt is fixed at A and 25
propped by a knife edge support at B | the end C is free .The beam is under a udl of
intensity 2t/m all through . Flexura) rigidity is 2F) for portions AB and is EI for
portion BC .Solve the beam and hence draw the complete bending moment and shear
force diagrams . ' ' a

3 —Afixed beam"o'f"uﬁiform flexural rigidity is subjected to a point load P applied atan 25




